e “ B — P .

ﬂ
(86-90 ghuaai Juu)  Amgio o 999 0,399 0 by il ) g0k o9 ) @

adigia IP e dligwia

5 -
0b3l> pliesls 0L (Y Okl 9L,,>w obla (A
oluss Pl.k.: obla (f Oliewly Ol 0Ll (¥
aall Sl b sl e -Y
w2l Sgl a5dlae B 0983l LYl £¥ga (Y Juls pLYI Lia b elggll 5,1, ()
5ol el oda JI s &yl oliall S5 (F oS 8o lgsgallls I Sl o (F
: a53dl low¥l (o LIS Acgommo ie Y
arlad o ol 8 jake . LIE (Y elpas ookt L saalre 5T ()
aalys il Lo el s (F clags sl . slaal o slow (F
3 Go b (B el Gasd U5 09 Kby o Yga ¢ ELall bl u2 e ¥
B (F slaall (v WG 3l ()
Al gl Josis 3 sl e -0
G s I Ials (Y lpfudST L 3555 sl 5335 0
Ipal5 ¢ 38l B L i (F o Azl padill L A (r
RYES TR Ll 5 egtdl Jloel JILa35 ¥+ g0l bl e -5
Obasies (F Olagzes (Y Olsgias (Y Olagas (A
JesYl Bapo b puammaal] e -V
Qg 5 03 0l plo oo (¥ 233 Bygo DMt O o s ()
A3 Sy glemizs 09 o w5l (F Slgelall 0slanis 09 ulo oo (F
(635 ) Jab e sl e -A
PQE;L&QU)ATJ:JW ngwﬁTJa(r ;iu*i;liﬂgbbk}zé(f ol pale Jui (1
el ie -4
gliomall Tl Tl 0 35T (Y by shad) Jlgol Las BT gl ()
oS lwodl JI llgal Lany cpagoll T (F olin,y i b Jlgadl o s il (¥
(piE . il ¢ cdliol) : 4l Yl o jo¥ Joadd pmeomaall 3 -1 -
15255 — Oags] — (bl (¥ lga28l — aal> — o] ()

155235 — Ohaly — (=LoT (F 15538 — VAl — (lis| (¥




ﬂ
Y otlulalds 0% gt 901 m B0 50 o0 s

:émpmlxg’ijuo;c—\\
b Usb LT iale Tug,s (5 o) 31 (Y I3,k g 5 Jazae 5ol pdll (0
5,59 5 LW 8 wSlacl e Oglggun ol (F S @i obo daldl Lia gl (¥

T liiall 4 o e 1Y

IS Ladl o ez ales b 1,8 LSy Sy 5T 5 aih SBasl @ 0l ()
i IS aAldall Sl slhe U ualucadl (o) (ol L (F o) 2ol s 31 19 355Y O puingall e (F

ST Sliniall 4 b e V¥

osdlall dpodal Ay 5 8 Talgaz) T Gl sy Sl stelaces Buaall gl 0da o855 (1
bl Ol ans Jg> sLDYI s a8 M (F Ly te 6 anls GalaY bl el o3 (¥

s oliziall jdns 5 momall ie P

W R R W) U{A.Q:..L.AQMM(Y QL““"‘,)MC)‘&L““PMI::'J“.;"(\

5 e Jab e Ll Sliziall pie -10
Lsls alloclU T,56 o3g0m0 5, cragall OF ()
ssginodl toxall I3 il I3 e BT L Ul (Y
IS bl s @I sgazmall gl ie Yl pslio (¥

splholl die upaie WSS aulb 5 JBI Tazlas (F

ndyba Il 1536 g tpa Jiguw 1D |
e ——— . . e e ———
90L9Lw).b o;ﬁskuagbyiagoo.\bm ................... (@EI, QLQQ)F.E\LQMW&)) le-b Q,'Jshagdg'w")l.:a—\;
FCIUP - 0392 ioddd 5 iades ol (3] 1B paand 9 Comtl woerenrrrerrnis ok
01 - bz - yoguase il (Y &= ~wblbize - b5l 5 (Kiwgn (A
&> — ol Baa - bl g (Sawsw (F O - yols Baa - yogase Lisl,T (¥
P € S—— 4y o a1 55 Jlgw RTLETI oo L I G— » &S Sl opl Olsz 9 Ulgzsi o Juol sl Jlgw I (S -\
..\.3‘.1@).}') ................... ;MQM'gé)b

AN 9 CaS> (sl a9l — 32l 2, g Slgleadl G5 —aiS o (SN Sl WK 45 bl (A
SN 5 CaaS> (5la o9l — yuds slidls b JS Ul -uiS oo S 85 Sl 45K 55 olwsl (Y
 odsdy Cudglsee — )i slidls = b JS Ul —3gs Salys digr Oler saisT (¥

l oy Cudglons - 32l (oY1 5 Olglowdl GLs — 399 Jalys digK Olgz saT (F




ﬂ
v (38-90 phuaad Juu)  Amigio Slaie 093 0,99 00 alli Y g0k ¢ 9w 5 @

SLY U5 (D Ol Lggs da po oYl (b slo slowdl o Uis 9 Laeb g Bogs Gl 0500 LT (o 9 25 aspd s 4T -VA

Tl 9090 plaS (5 0,5l 13 9 398 (o JuoST AgKr € rovvrrrvnrrren poil

Old95 90 (5 dod AT § CaaS> —Ogromn (Y Old95 90 (5 dod AT § CaS> —Ogliny ()
Oludl Sl 55 ,ud5 9 S —Ogliss (F Oludl Sl )5 ,ud5 9 LS —Ograms (V
PIIS porie 53 B3 5l i 5 43 €S OT 3 1k 4 OIS 4z g8 o 9 <l st oly 5 ol (23 ©39y SShe 9 393,07 ~14
ST oo Caws a3 LT

2985 0 855 Y padl @)l Sglis e e I BIS (B 55 e — phuol & 9 gy Al 23 el ()

ssbd o 55 Ja padl a2l SgliS e ol BLS (B 5 5 e 098 52 lg, 8l Lasly iS00 N g (goue J2 9 (Y

G20 Y1 Lo o 5 5,31 5 gl GaLS U 9 2 gy Sillacls 35 o0 31 5 ameo J=1 5 (F

326 Y1 Loginr Lo 5 3,915 Solglond] Bl Lo — plasl & g iy bl 25 el (F
S 4z ,d 5 4T 9 JIb (o BAd 4 Ul sl a5 b O (5 degame g Bl 51 0 -Y

Y ERR| -1 ) I PR—
dozedl &) g Shall & 2 ,Y1 (B Lo g Dlglowdl (5 Lo dll ey ~ 3885 (Sinwgay ~ > (o0 JuSiS |y Sle 21y pllis (A
sskd o 55 Ja padl gzl Sgli e el Bl (S 55 L - JelS plonudl —iaS (oo eSS 1) Gler Ay pliS (Y
298 5o 55 Ja padl g, S9lis o el BIS S (55 Lo — 383 (Shwgs — )l Cule 5 S (V

Szl & g Sl & oY1 (5 Lo 5 Slglowdl (B Lo dll ey —JulS plovasdl - 55 Cule 5 Saa (F

................... S 4 bl Cume 03,5 ju g 1o 8L -V
ke ol b I bl 5,5 iy Ml Sz 9. 656 = s S5 Ole 9 995 53 ()

lale ol b I bl 55 Ligis o al) oy @BB= G136 5 o 51 (595 9 Ot 51 (¥

1948 Lol 5 1,5Lis Lol Jusuadl 6Lis 4 Gl - a5 Ol 9 395 3 (¥

1)9aS" Lol 9 1,5l Lol Joudl sliy s Bl = 156 5 Je= 51 5093 9 O 3l (F

Tl Gl az 0,5l )5 i i <Ll gdgl i SS9l » 9 «dl polaa o I STgl » ddy pis oLl -Yy
Lo, itz A Ui Igaler (g2 Wlg-Rin Ogaitsd il Ogoaions o2 1 (A
Bl s 1) Bd lgaalr o Mlg= Uik (os a0 b Tgaalr (o My (¥
sl Hgaid Jodll Ogratun o W Atus] Gorid Joill Ogroiuns o3l (¥
Lol D92 Jodll Ogratuny (p WI-Uliw s 3¢ Uisd Igaaler o Wy (F

SRl 395 a5 &S (o0 (e b Olusl 4y 1) (sl 03" 0l paS” Jule 0,5 OT 8 - YV
................... U395 1) 9 wereernnenrenns SIS 9 3515 5L
L3 0als OLas Ly ) —E95 odsg - 2Bly Olaal - T 01455 ,8 - OlwesT (A
903 0aeg —153 0313 OLis Ly - g8ly Olosl -l Olusl — S35 g0 dan (¥
dgarg = 03,5 dusgug —Caiuge —p3T 0133 % —OleesT (¥

dwgwg —Lid O3ls Ylis Lo — Sl - Yluil —Sil3g> 50 doan (F




ﬂ
v otlulalds 0% gt 901 m B0 50 o0 s

S OM 4 Udaw) sl S 3,15 3929 (950 Jeole &S b 9 €U (0 KaS Lo s G ol Udgew 5O Niglas aS ol > -YF
T3,05 howi SLT plaS )5 5 43 €A (0 Dges oS s Lis 535759

20 00 b W ogudly 5,LY el Of -159a5 Lol o T,5°Lo Lol Jusudl oLz o U1 (Y
lgas 9 L ygord Lol Walguw Lo 5 (puds 9 —Uiksaw s g Ui Tgalr s Wl (Y
lalgis5 g (a )9ord Lagdls algas Lo 5 puis 9-T59aS Lol 9 1,5'Ls Lol Jsuudl olis s Gl (¥

2 12 Lo M1 2gudls 85LY utll O Likows s 1) Uid Iy daler 3 319 (F

I b (ol 9 Canl Olbgds 5l Curd pAE e Glss Yo 9 BT (0 Cawd & i Gisb 5l ouis Cul,S YO
W S PE JE—
Jolao - e - cwlidlas (Y Jolao e - wlids iings (A
Usleo —Jsles - owlislas (F Jokeo —dsles — owlids i 9= (V¥

s iz A5 (5990093 ADL e @ Olwil Camis Kiwly Jolae 1L Olusl Camasds o)k Lix> Oab Loge -YF
- 3 z9) G Caasds O
SR oo pedS - oo (Y SR (0 yaad - ez ()
9 (o3 Sy — 9, (F 39 (g0 Shgumns — uuezr (¥

290 Sl €lugly 431 5 pas SN gy Sl g el Ol SLE g ()] Sl SLall JB 9 4y b 40T -YV
SRS ... YIS 7 Y Y—
Oluil 9393 Folw 93 —ddslo slalig, (Y Ol U293 (Folw 95 —Uluil 3929 Caini> ()
z9) 039 5Ol pué —a83lo slaby, (F T90 039 53 i —Olwil 2929 Cuigis> (Y

PY— S 0 5951 45 Cuslize ol & S el Obiw 1A Gdews 5 9 Canwl covcennnnee Jsleo S 0 piuslas 1656 -YA
.................... SYsb e

Jaalgs ol — IS (god — oyl s s 4y s9ama ) S 55 (A
Kalgs od — S (o0 — ol Lid 45 s9ama |y S35 (Y
Aalys (o - AL o -l A O3 pas U (Y
Aalys (oo -GS g0 — LS A3 O U (F
YV E - & AU 3D § weerrnrerenrenns LW JRY IO KO— &S’ Sl sl obe Hi,55 oL -Y4
A3 oo Cawd ) (SX5 blis g slols -3 ,8 (o0 0,US OIS 51 - Silogl> a3 Juo (
$3all g ol =358 (o0 0,LS 01,5 51 -1as & olegl (Y
283 oo Cawd 1 1y S35 blis 9 lold — 39 o Uil o2 Uil 65 039 iz (S35 —1a5 4 Olayl (¥

Sxall g gols —398 (o0 G251 (o2 Uil 22 W3 039, iz (S35 - Slsgle 4 Jua (F




ﬂ

Q (98- 90 chuand fu) lietgiy plado P90 0,99 pgm, G“H, \a-ola ggeji @
XS IS VI P RS (PR V-1 PR S — diy o 5wl & b,{ﬁ((i),&&aMQlS&ﬁJﬂé))r,@n—‘”‘

?Cufbb).oj).;g(,u:u“ ) Ao

0391 S o 3k s~ 3V paull g dlily (pol o (Y Olesl 9 6, KW b - ;59 poull g alils ol 0 (A
Ozl 9 5, KW b~ g L (w9 8,591 11 e (F 039 S 0 0l 49— lgurs Ld a9 8,590 511 g (V
i IP | usdSil Jlgw 12 |
31. This is a very difficult question, so it cannot ............ so easily within a short time. (S/H/94)
1) answer 2) to be answered 3) be answered 4) have answered
32. Jane asked me ............ I wanted to be employed as a secretary.
1) as 2) whether 3) while 4) since
33. Sir. Alex Ferguson joined Manchester United as coach ........ he was 45.
1) since 2) while 3) when 4) during
34. These sandwiches should be kept in a fridge. Otherwise, they will ......... soon.
1) damaged 2) injure 3) function 4) spoil
35. When you do something .............. »youdo it well and with‘no waste of time, money or energy.
1) flexibly 2) efficiently 3) seriously 4) perfectly
36. A substance in food that plants, animals and people need to live and grow is called ............
1) chemical 2) endorphin 3) nutrient 4) energy
37. physical exercise can .............. you against heart diseases. (S/ H/88)
1) develop 2) create 3) protect 4) improve
38. smoking ............ your chance of getting cancer. (S/Z/88)
1) decreases 2) releases 3) produces 4) increases
Cloze.

The Eiffel tower rises upwards from an open space in the west of Paris. It ...39.... built by the French
engineer, Alexander Gustave Eiffel, who was by then ....40..... for his construction of bridges. The tower
is made of steel bars ...41... some 7000 tons. It is 322 meters high from the ground and includes a 17-
meter TV antenna.

39. 1) is 2) was 3) has 4) had
40. 1) injured 2) efficient 3) famous 4) final
41. 1) protecting 2) producing 3) weighing 4) weighting
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passage.

(S/E/93)

Cooking is the way food is prepared for eating. There are several reasons for cooking food. When
food is heated, chemical changes take place which make some food easier to eat and digest. We also think
of cooking as making food taste better, but that is often because we are used to certain foods being
cooked and do not like the idea of eating them raw. Also, when food is cooked it is often mixed with
other food to give it a different flavor or appearance:

Another reason for cooking food-is to preserve-it. Heat kills, or delays the action of, certain bacteria
and parasites that may be in the food. This may also be done in other ways, such as drying, smoking,
freezing, or pickling. The term “cooking” can include all these processes and also the preparation of raw
food for eating.

Cooking is not only done out of necessity. Many people who cook for themselves, their families or
friends, as well as those who cook for a living, do it for pleasure. Although cooking is a science, it is also
a form of art, and part of the art of cooking is presenting the food so that it looks good to eat. The Scottish
writer, James Boswell, defined man as a "Cooking Animal”. *No beast can cook,” he said. "Man alone
can prepare a good dish; and every man whatever is more or-less-a cook, in preparing what he himself
eats".

Each country has its own traditional ways of cooking based on among other things, the food available,
the people who have lived there at different periods of history, the climate, and the religions and customs
practiced there.

42. According to paragraph 1, chemical changes occur --------- .
1) when food is exposed to heat
2) whenever food is easy to cook
3) any time we prepare food, raw or cooked
4) because without them people may refuse to eat
43. All of the following are mentioned as reasons-for cooking food EXCEPT that cooking --------- .
1) is a way through which some people earn money
2) enables people to keep food for a longer time
3) changes harmful bacteria into useful ones
4) helps improve the taste of food
44, The passage refers to cooking as a kind of art ------------ ;
1) because humans are cooking animals
2) because every man can cook somehow
3) when people engage in preparing food for themselves and also when they cook for the fun of it
4) when people take steps to make food look pleasant in appearance to others to encourage them to eat it
45. The passage refers to “the climate, and the religions and customs ...” in the last paragraph as --------- .
1) the factors affecting different countries’ choice of their traditional ways of cooking
2) examples of people’s traditional foods in different countries

3) reasons why people’s food choices vary over time

4) people’s different ways of learning how to cook




